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5. , 

 03.5
,  06.12.2020

X Y

1 2 3 4 5 6 7 8
1 -411, 1 978859.44 5097780.81

2 -168, 1 976309.56 5095422.26



3 -3895, 4 974831.12 5094680.56

6. 

, )  ( , )

1 2 3 4
1 
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Galaxy G 1"

68310-17,
25.08.2021
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 15 : 9
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 " "
 03:17:080208:11 

 ( )  03:17:000000:127 
04.09.2017.

1. 
03:17:080208:27
-03,  5

, , 

(Mt),

,

 (Mt), 

X Y X Y

1 2 3 4 5 6 7 8
1 – – 976943.88 5095678.65 0.10 Mt= (0.07²+0.0

7²)=0.10



)
1 976934.74 5095692.89 976934.74 5095692.89

)

0.10 Mt= (0.07²+0.0
7²)=0.10

2 976915.58 5095680.79 976915.58 5095680.79

)

0.10 Mt= (0.07²+0.0
7²)=0.10

3 976914.77 5095681.24 976914.77 5095681.24

)

0.10 Mt= (0.07²+0.0
7²)=0.10

4 976912.51 5095678.24 976912.51 5095678.24

)

0.10 Mt= (0.07²+0.0
7²)=0.10

5 976907.52 5095673.54 976907.52 5095673.54

)

0.10 Mt= (0.07²+0.0
7²)=0.10

6 976905.41 5095671.55 976905.41 5095671.55

)

0.10 Mt= (0.07²+0.0
7²)=0.10

2 – – 976906.88 5095670.20

)

0.10 Mt= (0.07²+0.0
7²)=0.10

3 – – 976916.39 5095660.62

)

0.10 Mt= (0.07²+0.0
7²)=0.10

1 – – 976943.88 5095678.65

)

0.10 Mt= (0.07²+0.0
7²)=0.10

2. 
03:17:080208:27

 (S),
. .

1 2 3 4 5
1 1 16.92 – –

1 2 22.66 – –
2 3 0.93 – –
3 4 3.76 – –
4 5 6.85 – –
5 6 2.90 – –
6 2 2.00 – –



2 3 13.50 – –
3 1 32.88 – –

3. 
03:17:080208:27

1 2 3
1 , ,

, 

)

–

–

2  ±

 (P ± P), 2

585  ± 9 

3 , 

 ( P), 2

 =  3.5 * 0.10 * 585 = 9

4 

 (P ), 2

587

5  P  P  (P -
P ), 2

2 

6 

 (P  P ), 2

100

7 
) , ,

, 

–

8 –

1. 
03:17:080208:7
-03,  5

, , 

,

 (Mt), 

X Y X Y



(Mt),

1 2 3 4 5 6 7 8
7 976889.31 5095673.55 976889.31 5095673.55

)

0.10 Mt= (0.07²+0.
07²)=0.10

8 976896.31 5095679.52 976896.31 5095679.52

)

0.10 Mt= (0.07²+0.
07²)=0.10

9 976904.14 5095692.42 976904.14 5095692.42

)

0.10 Mt= (0.07²+0.
07²)=0.10

4 – – 976885.02 5095713.72

)

0.10 Mt= (0.07²+0.
07²)=0.10

5 – – 976868.44 5095701.71

)

0.10 Mt= (0.07²+0.
07²)=0.10

10 976876.06 5095691.63 976876.06 5095691.63

)

0.10 Mt= (0.07²+0.
07²)=0.10

11 976886.14 5095678.00 976886.14 5095678.00

)

0.10 Mt= (0.07²+0.
07²)=0.10

7 976889.31 5095673.55 976889.31 5095673.55

)

0.10 Mt= (0.07²+0.
07²)=0.10

2. 
03:17:080208:7

 (S),
. .

1 2 3 4 5
7 8 9.20 – –
8 9 15.09 – –
9 4 28.62 – –



4 5 20.47 – –
5 10 12.64 – –

10 11 16.95 – –
11 7 5.46 – –

3. 
03:17:080208:7

1 2 3
1 , ,

, , 17-2 

)

–

–

2  ±

 (P ± P), 2

716  ± 9 

3 , 

 ( P), 2

 =  3.5 * 0.10 * 716 = 9

4 

 (P ), 2

616

5  P  P  (P -
P ), 2

100 

6 

 (P  P ), 2

100

7 
) , ,

, 

03:17:000000:1988 ( )

8 –

1. 
03:17:080208:10
-03,  5

, , 

,

X Y X Y



(Mt), 

 (Mt), 

1 2 3 4 5 6 7 8
15 – – 976895.85 5095647.18

)

0.10 Mt= (0.07²+0.
07²)=0.10

14 – – 976888.09 5095646.03

)

0.10 Mt= (0.07²+0.
07²)=0.10

13 – – 976881.26 5095648.59

)

0.10 Mt= (0.07²+0.
07²)=0.10

12 – – 976878.49 5095650.18

)

0.10 Mt= (0.07²+0.
07²)=0.10

11 – – 976873.72 5095653.35

)

0.10 Mt= (0.07²+0.
07²)=0.10

10 – – 976867.52 5095653.01

)

0.10 Mt= (0.07²+0.
07²)=0.10

9 – – 976850.29 5095670.65

)

0.10 Mt= (0.07²+0.
07²)=0.10

8 – – 976842.02 5095681.83

)

0.10 Mt= (0.07²+0.
07²)=0.10

16 – – 976832.98 5095675.03

)

0.10 Mt= (0.07²+0.
07²)=0.10

17 – – 976833.35 5095674.25

)

0.10 Mt= (0.07²+0.
07²)=0.10

18 – – 976829.95 5095671.79

)

0.10 Mt= (0.07²+0.
07²)=0.10

19 – – 976863.29 5095628.39

)

0.10 Mt= (0.07²+0.
07²)=0.10

20 – – 976880.57 5095635.22

)

0.10 Mt= (0.07²+0.
07²)=0.10

21 – – 976892.31 5095644.13

)

0.10 Mt= (0.07²+0.
07²)=0.10



15 – – 976895.85 5095647.18

)

0.10 Mt= (0.07²+0.
07²)=0.10

2. 
03:17:080208:10

 (S),
. .

1 2 3 4 5
15 14 7.84 – –
14 13 7.29 – –
13 12 3.19 – –
12 11 5.73 – –
11 10 6.21 – –
10 9 24.66 – –
9 8 13.91 – –
8 16 11.31 – –

16 17 0.86 – –
17 18 4.20 – –
18 19 54.73 – –
19 20 18.58 – –
20 21 14.74 – –
21 15 4.67 – –

3. 
03:17:080208:10

1 2 3
1 , ,

, , 15-1 

)

–

–

2  ±

 (P ± P), 2

1177  ± 12 

3 , 

 ( P), 2

 =  3.5 * 0.10 * 1177 = 12

4 

 (P ), 2

1134

5  P  P  (P -
P ), 2

43 

6 

 (P  P ), 2

100



7 
) , ,

, 

03:17:000000:129 ( )

8 –

1. 
03:17:080208:9
-03,  5

, , 

(Mt),

,

 (Mt), 

X Y X Y

1 2 3 4 5 6 7 8
3 – – 976916.39 5095660.62

)

0.10 Mt= (0.07²+0.
07²)=0.10

2 – – 976906.88 5095670.20

)

0.10 Mt= (0.07²+0.
07²)=0.10

6 976905.41 5095671.55 976905.41 5095671.55

)

0.10 Mt= (0.07²+0.
07²)=0.10

12 976901.27 5095673.18 976901.27 5095673.18

)

0.10 Mt= (0.07²+0.
07²)=0.10

13 976899.71 5095663.77 976899.71 5095663.77

)

0.10 Mt= (0.07²+0.
07²)=0.10

14 976893.98 5095656.99 976893.98 5095656.99 0.10 Mt= (0.07²+0.
07²)=0.10



)
15 976887.00 5095661.79 976887.00 5095661.79

)

0.10 Mt= (0.07²+0.
07²)=0.10

16 976882.64 5095660.95 976882.64 5095660.95

)

0.10 Mt= (0.07²+0.
07²)=0.10

17 976875.38 5095666.11 976875.38 5095666.11

)

0.10 Mt= (0.07²+0.
07²)=0.10

18 976852.51 5095688.37 976852.51 5095688.37

)

0.10 Mt= (0.07²+0.
07²)=0.10

6 – – 976851.63 5095689.12

)

0.10 Mt= (0.07²+0.
07²)=0.10

7 – – 976847.63 5095686.23

)

0.10 Mt= (0.07²+0.
07²)=0.10

8 – – 976842.02 5095681.83

)

0.10 Mt= (0.07²+0.
07²)=0.10

9 – – 976850.29 5095670.65

)

0.10 Mt= (0.07²+0.
07²)=0.10

10 – – 976867.52 5095653.01

)

0.10 Mt= (0.07²+0.
07²)=0.10

11 – – 976873.72 5095653.35

)

0.10 Mt= (0.07²+0.
07²)=0.10

12 – – 976878.49 5095650.18

)

0.10 Mt= (0.07²+0.
07²)=0.10

13 – – 976881.26 5095648.59

)

0.10 Mt= (0.07²+0.
07²)=0.10

14 – – 976888.09 5095646.03 0.10 Mt= (0.07²+0.



)

07²)=0.10

15 – – 976895.85 5095647.18

)

0.10 Mt= (0.07²+0.
07²)=0.10

3 – – 976916.39 5095660.62

)

0.10 Mt= (0.07²+0.
07²)=0.10

2. 
03:17:080208:9

 (S),
. .

1 2 3 4 5
3 2 13.50 – –
2 6 2.00 – –

6 12 4.45 – –
12 13 9.54 – –
13 14 8.88 – –
14 15 8.47 – –
15 16 4.44 – –
16 17 8.91 – –
17 18 31.91 – –
18 6 1.16 – –

6 7 4.93 – –
7 8 7.13 – –
8 9 13.91 – –
9 10 24.66 – –

10 11 6.21 – –
11 12 5.73 – –
12 13 3.19 – –
13 14 7.29 – –
14 15 7.84 – –
15 3 24.55 – –

3. 
03:17:080208:9

1 2 3
1 , ,

, , 15-2 

)

–

–

2  ± 1087  ± 12 



 (P ± P), 2

3 , 

 ( P), 2

 =  3.5 * 0.10 * 1087 = 12

4 

 (P ), 2

1122

5  P  P  (P -
P ), 2

35 

6 

 (P  P ), 2

100

7 
) , ,

, 

03:17:000000:129 ( )

8 –

1. 
03:17:080208:5
-03,  5

, , 

(Mt),

,

 (Mt), 

X Y X Y

1 2 3 4 5 6 7 8
19 – – 976863.29 5095628.39

)

0.10 Mt= (0.07²+0.
07²)=0.10

18 – – 976829.95 5095671.79

)

0.10 Mt= (0.07²+0.
07²)=0.10

22 – – 976822.72 5095666.55 0.10 Mt= (0.07²+0.
07²)=0.10



)
23 – – 976816.52 5095661.91

)

0.10 Mt= (0.07²+0.
07²)=0.10

24 – – 976818.31 5095659.36

)

0.10 Mt= (0.07²+0.
07²)=0.10

25 – – 976814.78 5095656.93

)

0.10 Mt= (0.07²+0.
07²)=0.10

26 – – 976809.89 5095653.54

)

0.10 Mt= (0.07²+0.
07²)=0.10

27 – – 976815.54 5095646.25

)

0.10 Mt= (0.07²+0.
07²)=0.10

28 – – 976820.14 5095640.10

)

0.10 Mt= (0.07²+0.
07²)=0.10

29 – – 976822.23 5095633.61

)

0.10 Mt= (0.07²+0.
07²)=0.10

30 – – 976822.69 5095627.50

)

0.10 Mt= (0.07²+0.
07²)=0.10

31 – – 976823.47 5095624.12

)

0.10 Mt= (0.07²+0.
07²)=0.10

32 – – 976825.21 5095620.32

)

0.10 Mt= (0.07²+0.
07²)=0.10

33 – – 976834.93 5095610.64

)

0.10 Mt= (0.07²+0.
07²)=0.10

34 – – 976856.83 5095624.32 0.10 Mt= (0.07²+0.
07²)=0.10



)
19 – – 976863.29 5095628.39

)

0.10 Mt= (0.07²+0.
07²)=0.10

2. 
03:17:080208:5

 (S),
. .

1 2 3 4 5
19 18 54.73 – –
18 22 8.93 – –
22 23 7.74 – –
23 24 3.12 – –
24 25 4.29 – –
25 26 5.95 – –
26 27 9.22 – –
27 28 7.68 – –
28 29 6.82 – –
29 30 6.13 – –
30 31 3.47 – –
31 32 4.18 – –
32 33 13.72 – –
33 34 25.82 – –
34 19 7.64 – –

3. 
03:17:080208:5

1 2 3
1 , ,

, , 13 

)

–

–

2  ±

 (P ± P), 2

1601  ± 14 

3 , 

 ( P), 2

 =  3.5 * 0.10 * 1601 = 14

4 

 (P ), 2

1703

5  P  P  (P -
P ), 2

102 



6 

 (P  P ), 2

100

7 
) , ,

, 

03:17:000000:1614

8 –

1. 
03:17:080208:11
-03,  5

, , 

(Mt), 

,

 (Mt), 

X Y X Y

1 2 3 4 5 6 7 8
33 – – 976834.93 5095610.64

)

0.10 Mt= (0.07²+0.
07²)=0.10

32 – – 976825.21 5095620.32

)

0.10 Mt= (0.07²+0.
07²)=0.10

31 – – 976823.47 5095624.12

)

0.10 Mt= (0.07²+0.
07²)=0.10

30 – – 976822.69 5095627.50

)

0.10 Mt= (0.07²+0.
07²)=0.10

29 – – 976822.23 5095633.61

)

0.10 Mt= (0.07²+0.
07²)=0.10

28 – – 976820.14 5095640.10

)

0.10 Mt= (0.07²+0.
07²)=0.10



27 – – 976815.54 5095646.25

)

0.10 Mt= (0.07²+0.
07²)=0.10

26 – – 976809.89 5095653.54

)

0.10 Mt= (0.07²+0.
07²)=0.10

35 – – 976806.63 5095651.37

)

0.10 Mt= (0.07²+0.
07²)=0.10

36 – – 976805.81 5095651.78

)

0.10 Mt= (0.07²+0.
07²)=0.10

37 – – 976800.46 5095648.27

)

0.10 Mt= (0.07²+0.
07²)=0.10

38 – – 976793.70 5095643.10

)

0.10 Mt= (0.07²+0.
07²)=0.10

19 976797.
94

5095636.
96

976797.94 5095636.96

)

0.10 Mt= (0.07²+0.
07²)=0.10

20 976800.
24

5095633.
60

976800.24 5095633.60

)

0.10 Mt= (0.07²+0.
07²)=0.10

21 976822.
79

5095599.
51

976822.79 5095599.51

)

0.10 Mt= (0.07²+0.
07²)=0.10

33 – – 976834.93 5095610.64

)

0.10 Mt= (0.07²+0.
07²)=0.10

2. 
03:17:080208:11

 (S),
. .

1 2 3 4 5
33 32 13.72 – –
32 31 4.18 – –
31 30 3.47 – –
30 29 6.13 – –



29 28 6.82 – –
28 27 7.68 – –
27 26 9.22 – –
26 35 3.92 – –
35 36 0.92 – –
36 37 6.40 – –
37 38 8.51 – –
38 19 7.46 – –

19 20 4.07 – –
20 21 40.87 – –
21 33 16.47 – –

3. 
03:17:080208:11

1 2 3
1 , ,

, , 11-2 

)

–

–

2  ±

 (P ± P), 2

885  ± 10 

3 , 

 ( P), 2

 =  3.5 * 0.10 * 885 = 10

4 

 (P ), 2

873

5  P  P  (P -
P ), 2

12 

6 

 (P  P ), 2

–

7 
) , ,

, 

–

8 –

1. 
03:17:080208:13
-03,  5



, , 

(Mt),

,

 (Mt), 

X Y X Y

1 2 3 4 5 6 7 8
44 – – 976772.22 5095574.56

)

0.10 Mt= (0.07²+0.
07²)=0.10

43 – – 976792.04 5095587.21

)

0.10 Mt= (0.07²+0.
07²)=0.10

42 – – 976791.70 5095587.83

)

0.10 Mt= (0.07²+0.
07²)=0.10

41 – – 976775.59 5095613.68

)

0.10 Mt= (0.07²+0.
07²)=0.10

40 – – 976766.23 5095627.08

)

0.10 Mt= (0.07²+0.
07²)=0.10

45 – – 976756.67 5095620.26

)

0.10 Mt= (0.07²+0.
07²)=0.10

46 – – 976756.68 5095618.84

)

0.10 Mt= (0.07²+0.
07²)=0.10

47 – – 976754.19 5095617.17

)

0.10 Mt= (0.07²+0.
07²)=0.10

48 – – 976753.36 5095617.94

)

0.10 Mt= (0.07²+0.
07²)=0.10

49 – – 976745.77 5095612.36

)

0.10 Mt= (0.07²+0.
07²)=0.10

50 – – 976747.15 5095610.25 0.10 Mt= (0.07²+0.



)

07²)=0.10

51 – – 976753.45 5095601.65

)

0.10 Mt= (0.07²+0.
07²)=0.10

52 – – 976755.90 5095597.52

)

0.10 Mt= (0.07²+0.
07²)=0.10

53 – – 976764.04 5095587.82

)

0.10 Mt= (0.07²+0.
07²)=0.10

54 – – 976770.57 5095577.23

)

0.10 Mt= (0.07²+0.
07²)=0.10

44 – – 976772.22 5095574.56

)

0.10 Mt= (0.07²+0.
07²)=0.10

2. 
03:17:080208:13

 (S),
. .

1 2 3 4 5
44 43 23.51 – –
43 42 0.71 – –
42 41 30.46 – –
41 40 16.35 – –
40 45 11.74 – –
45 46 1.42 – –
46 47 3.00 – –
47 48 1.13 – –
48 49 9.42 – –
49 50 2.52 – –
50 51 10.66 – –
51 52 4.80 – –
52 53 12.66 – –
53 54 12.44 – –
54 44 3.14 – –

3. 
03:17:080208:13

1 2 3
1 , ,

, , 9-1 

)

–

–



2  ±

 (P ± P), 2

1139  ± 12 

3 , 

 ( P), 2

 =  3.5 * 0.10 * 1139 = 12

4 

 (P ), 2

1139

5  P  P  (P -
P ), 2

0 

6 

 (P  P ), 2

100

7 
) , ,

, 

03:17:000000:2574

8 –

1. 
03:17:080208:3
-03,  5

, , 

(Mt),

,

 (Mt), 

X Y X Y

1 2 3 4 5 6 7 8
39 – – 976794.71 5095582.45 0.10 Mt= (0.07²+0.

07²)=0.10



)
21 976805.35 5095588.91 976805.35 5095588.91

)

0.10 Mt= (0.07²+0.
07²)=0.10

22 976788.09 5095618.26 976788.09 5095618.26

)

0.10 Mt= (0.07²+0.
07²)=0.10

23 976787.23 5095621.52 976787.23 5095621.52

)

0.10 Mt= (0.07²+0.
07²)=0.10

24 976777.66 5095635.13 976777.66 5095635.13

)

0.10 Mt= (0.07²+0.
07²)=0.10

40 – – 976766.23 5095627.08

)

0.10 Mt= (0.07²+0.
07²)=0.10

41 – – 976775.59 5095613.68

)

0.10 Mt= (0.07²+0.
07²)=0.10

42 – – 976791.70 5095587.83

)

0.10 Mt= (0.07²+0.
07²)=0.10

43 – – 976792.04 5095587.21

)

0.10 Mt= (0.07²+0.
07²)=0.10

39 – – 976794.71 5095582.45

)

0.10 Mt= (0.07²+0.
07²)=0.10

2. 
03:17:080208:3

 (S),
. .

1 2 3 4 5
39 21 12.45 – –

21 22 34.05 – –
22 23 3.37 – –
23 24 16.64 – –
24 40 13.98 – –
40 41 16.35 – –
41 42 30.46 – –



42 43 0.71 – –
43 39 5.46 – –

3. 
03:17:080208:3

1 2 3
1 , ,

, , 9-2 

)

–

–

2  ±

 (P ± P), 2

700  ± 9 

3 , 

 ( P), 2

 =  3.5 * 0.10 * 700 = 9

4 

 (P ), 2

756

5  P  P  (P -
P ), 2

56 

6 

 (P  P ), 2

100

7 
) , ,

, 

03:17:000000:2574

8 –

1. 
03:17:080208:2
-03,  5

, , 

(Mt), 

,

 (Mt), 

X Y X Y

1 2 3 4 5 6 7 8



55 – – 976748.17 5095562.96 

)

0.10 Mt= (0.07²+0.
07²)=0.10

54 – – 976770.57 5095577.23 

)

0.10 Mt= (0.07²+0.
07²)=0.10

53 – – 976764.04 5095587.82 

)

0.10 Mt= (0.07²+0.
07²)=0.10

52 – – 976755.90 5095597.52 

)

0.10 Mt= (0.07²+0.
07²)=0.10

51 – – 976753.45 5095601.65 

)

0.10 Mt= (0.07²+0.
07²)=0.10

50 – – 976747.15 5095610.25 

)

0.10 Mt= (0.07²+0.
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